= o
N & 0l & AF & & A A
2013HT 20lah BAANYSHEH HAD ~ HAD
A B2
M MEHIISXHE Y NEWES(B225/HIIS)
Sel: Bae(FANBSESA) (es:@d)
=
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=N 38,400,000 46,500,000 ~.8,100,000
= 670,100
< 261,750
Al 37,468,150
MEHIISH2 ¥ NAWER(HALS/HIIS) 17,900,903 28,710,946 ~10,810,043
=2 670,100
< 261,750
Al 16,969,053
oo (BAALSEE) 4,585,828 3,881,154 1,204,674
2 13,500
=3 6.750
Al 4,565,578
=ES R AL 887,140 918,009 /30,869
201 Lt 178,156 181,730 3,574
01 AL el 176,656 180,230 3,574
Of. ge+g| 119,000
SHAMY LU EH| 3,000,000 3,000
-XE0AI ABE 50,0009 20 £ 128 1,200
~2HA01EE =X LUAH SN
120,0002 * 10 4 128 1,440
~HIEEH S2HD 20A3H Y
10,0008 * 122 1,320
-2A0IGE 2588 7Y
3.0002 3102 *23] 1,860
SHAXY ARSEET HME(RA)
500,000 %224 *5C} 5.000
-IIZ2HAZ PPEH 422 S 3¢
1,600,000 * 12 19,200
SHAZ Y PY 400*310H 102 3+ 122 14,880
M JIE0101 € 22l TV E2(B2)
3.000,0002 *128 36,000
—2A03Y =2Xs2RE 2|
200,000 * 128 2,400
-HEHEIIE 4TS HME 1602 %180,0000H 28,800
SHAXY MEMYI 2 222 HME
130& %325 *10, 00004 3,900
Os.eg+¢ 980
- A0I5HY FHHOHIIZ 23499 +Y
70,0002 x2% 140
SHOISHRIAL FEHASXA F2UX A
2893 &g 70,0002 6% 23] 840
O4.T = 6.300
-HAXY 2Fd 6.300
U= (SBIIAL L&) 130,0008 *35% 4,550
=l 5 50,0008 *35% 1,750
O5.3 &l 50,376




N = 0l & At & Ml A

A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)

©el BAZel(BAaMSELESA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
“HAHE 92 24 34
7,000 «8H 8L « 12 5,376
“EATE 2R MYSAH (SHIIAL ZE)
4,000% *45H x250 45,000
02 =224l 1,500 1,500 0
O3. A& & Hl R X bl 1,500
-2Z0IsE AQASHAMAE FX2H
1,500, 000& 1,500
202 04l 12,060 20,173 A8,113
01 S LHOIYI 12,060 18,900 26,840
OHAME A2 0IY|
60,0003 x7H +3 +73] 8,820
OHJIEMelANE =&
60,0003 *3EH +x32 +63] 3,240
203 YR =& 2,000 2,000 0
03 Al =AY R 2,000 2,000 0
OFadiZ@ac AMFA HRE=AH
2,000,000 2,000
206 = Hl 8,000 8,000 0
01 M2 4l 8,000 8,000 0
OMES & =d W7 8,000,000 8,000
301 gt L= 38,924 52,833 A 13,909
09 BUAZIFRABHZ 7,924 7,833 91
SEDEETE! 7,924
R 97,5003 «2H «12& 2,340
-S4l 7,000 «2H 222 « 122 3,696
- SH| 2,4003 x2H «22 « 128 1,268
-Il =l 140,000& x2H 23] 560
-CHe g=Ed 15,0003 x2H 22 60
10 #AAHIEAZ 31,000 45,000 A 14,000
Ostd0lstd OlRslBH 24
50,0003 «310H *23] 31,000
307 21201 A 648,000 648,000 0
05 RIZt2IEt = 648,000 648,000 0
OBADY ASHI(BSNA)
54,000,000& =123 648,000
HAXNE2H 1,006,070 1,092,103 A 86,033
101 14l 369,120 279,337 89,783
4 JI12ZtHZ22HEE =+ 369,120 279,337 89,783
OSASsMYIISEH A2 22l (=
Xel #5) 369,120
i al:] 4,860 120 *50Al 2tx 128 349,920




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)

ool HAZe(EAMSSESA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-2 & R0U&EH 160,000& »120H 19,200
201 2et24d] 620,150 645,330
01 At 2teltl 597,230 626, 260
O1.det=2H| 588,830
-MYIIEyEED oty 2% 72
5,000& 3804 *23] 380
-MYIISEEI SEEME By R stz
1,500,000& 1,500
MY IISYEEI d0E ME
25,0002 = 1000H 2,500
-MYIIESEM #ASE ME 568,010
Y 233 +350,0000H 8,050
104 32 *3,000,0000H 96,000
© 204 52:& +3,500,0000H 182,000
° 504 116& 1,100, 000 0K 127,600
1004 2163 460, 0000H 99,360
HArE S (200 ) 55%*1,000,0000H 55,000
~20AY B2 (MAINBTHES SRED
) 110,000& =128 1,320
-HEEE 228 SE2Y 2163 +70,00004 15,120
O5.2 &l 8,400
SMYDIBYEI| S L HEABA HA OF
22X 4 7,000 *25H «43| x 128 8,400
02 23224l 22,920 19,070
O1.2323LAHA 13,920
-MYJIEYEED RERS
1,900 20021 x12& 4,560
-ZAlot0e 28 SHe=3
30,000 260 x12& 9,360
O3. A& ZHl s Xt 9,000
MY JI2-EI ZAISMe SXNES
500,000& = 18CH 9,000
301 gL = 1,800 1,800
12 JIEBHE4 S 1,800 1,800
OMEDI=SEEI MDEZAS 50,000& »20A 1,000
O18/ E3 MEAM ALAMEE ADEAS
20,000& »40AH 800
401 Al HIZ 2018 15,000 15,000
01 A& HI 15,000 15,000
OMedl 28 EI| 2AESCCTVA X
3,000,000 x5CH 15,000
HAANE (M) S22 1,005,272 1,115,310
201 LB-2E| 700,602 646,040




: x4)\p_|.

M MEHIISMe ¥ NFNEE(BHEES/HIIS)
el HAZe(HAMSSESA) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 13,470 6,200 7,270
O1.€8t=&H| 13,470
—HAXE EIEA == 30,000& »42CH 1,260
“HAXE YA == 70,000& 27 CH 1,890
“EAX 2HEINMNE FY 7Y
1,000& 47«52 di| 122 2,820
~EHATE CNGHIA(HLEI]) FIZA ==
= 750,000 »10CH 7,500
02 8323l 687,132 639, 840 47,292
O1.332LHA 60,100
-EAXE BERE 800,000& »47CH 37,600
“SAJA AHEE 700,000& x12& 8,400
“HAKY BENARSS
150,000 & »47CH 23] 14,100
O3. A& ZHI* Xl 5,551
-2Z 03t EXsl& HAS KA
2, 7173 %2,043m’ 5,551
O4. Xt Byl 621,481
-HAX 13,223,000 *47CH 621,481
206 M= Hl 32,070 29,850 2,220
01 M= tl 32,070 29,850 2,220
OHEAX Ed 22
150,000 *3H =4 CH =12 21,600
O&FAXE UIHEHIE M=
100,000& x2& x 123 2,400
OFAXE HIXE =% 2L (ESE)
30,000& »47CH 1,410
OFAXE MIAE 2E2E ME 7
150,000& x53 *33| 2,250
O&FAXE AME etE e D2 2
70,000& *21CH*33] 4,410
401 Al HI 2 28I 52,200 154,110 A 101,910
01 A& HI 52,200 154,110 A 101,910
O HAXE = 4,500,000 »4CH 18,000
OLEHAXY EFT 42l
1,200,000 *=21CH 25,200
OMA&&EH 2= =48 EX3A
9,000,000& =14 9,000
405 XHoHE S HI 220,400 285,310 A 64,910
01 AL EFH S 220,400 285,310 264,910
OFAXZ(GE LAEZ) A OIIH,II=EH)
69,000, 000 *2CH 138,000
OXALXS(5E CIAARIN) 2
82,000,000& = 1CH 82,000
Oul=2l ¢ 400,000 =1CH 400

_4_




2N

X ZH
S =

el

EEnt

D MEHISMe ¥ NAMES(BZEES/HIIEZ)

HAZe(BAMNSSEIA

)

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HAJA USHESMG(EX) 220,000 213,000 7,000
= 13,500
< 6,750
Al 199,750
405 RHoHE S HI 220,000 213,000 7,000
= 13,500
< 6,750
Al 199,750
01 AL EZFH S 220,000 213,000 7,000
OFAINA(CNG) =HHEAX 72
220,000,000& = 1CH 220,000
= 13,500
= 6,750
Al 199,750
[ {M=1Rs]! 1,467,346 42,732 1,424,614
801 Gl HI bl 1,467,346 42,732 1,424,614
01 olldldl 1,467,346 42,732 1,424,614
Ououlgl bl 1,467,346,000& 1,467,346
W2 ¥ SS(F2ALSLSIH) 4,435,873 16,116,725 ~ 11,680,852
= 651,000
< 200,000
Al 3,584,873
MYDIHEE 29 2,665,059 2,877,478 A212,419
101 124 dl 48,467 45,874 2,593
4 D12t Z2XEES 48,467 45,874 2,593
O Z2el (ZAI) 2]
38,8803 *4H x280 43,546
O4Ed JI2=RE= 43,546,000& *11.3% 4,921
201 YEtS | 840,858 630,901 209,957
01 At 2teltl 198,222 141,490 56,732
O1.d8t=8Hl 169,796
—HAANE et 3,000,000& 3,000
-HEE 29 Let+=&Y| 3,000,000& 3,000
“HEE vy E+3 87 3,000,000& 3,000
-H 24 RFOtE € 8K 2
2,000,000& 2,000
-ligd 8238 S8 =8 108,696
CHHEH &=+ 600,000 70 2 =128 50,400
COHEH Xot= HALE
500,000& 64 2«30 & x4 3] 36,000
" OHEE Xiot= HiA =
500, 000& *6H 2 43| 12,000
CEY EL HA(SS1, 23)
1,287,000 201 2 x4 4 X| & 10,296




2N Ha
M MEHIIZSXM L NAMEES(HEES/HIISE)
e e ¥ RIS (HAMSSEIA)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-HEd Mootz 2 (531,2)
550,000& 201 2= =128 13,200
-SS2HEE HZ2U EISEM ===
500,000& *2CH*13] 1,000
-SS20HEE HMIIEH ZIIEM =2
1,000,000& *13] 1,000
SRR BIBA +2E(2)
4,900,000 * 104 2 4,900
R HES RODCHI H22lsle
30,000,000& 30,000
O4.7 = 4| 1,690
-SEHYN FIIALK Y= Y
130,000& »13H 1,690
05.3 | 8,736
“HANG YR EF 24
7,0003 «3H «8L 128 2,016
-HEZ Ot 22X =24
7,000 x10H x8 « 122 6,720
O6.9 1tz 18,000
-SHHEE EEFH 2=
2,000,000& *43] 101 & 8,000
-HI&0H @&+ 22 005&EH 22Xz
2,500,000& 23] x20 A 10,000
02 =224l 642,636 489,411 153,225
O1.32ZIZLMA 293,020
~AMoleE MNEER(ES12,5X3 2, 52
ZAH) 2,200,000& =12 26,400
-2 M) =0l s A3l 120,000& * 13l 120
“HIIR3(ES, YSTEIFALL 8IHA)
21,000,000& 128 252,000
-HEd 2 AESTHAL I, FUHEEE(
6CH) 12,000, 000& 12,000
-HEE XHE SFME 23
125,000& »10CH 23| 2,500
O2. 9=l 6,924
-Hgtdgd 2 RXd(ES1-2,28 952
ZAH) 1,100 x 120 *8A| 2t 40 & 4,224
-SHHEZE 29 E A=Y
1,500 *24 *150 «2CH «30H & 2,700
OS3. A& &l Xl 342,692
-S=1,2 HEgd & 2d=sZTAE 51,893
HESE 2ZAIE CCTV =28 RAH(SS1
2, YEHLFAHL) 500,000 = 11CH 5,500
R/0 AlAEN 2 X 22l
15,000, 000& 12/ 15,000
=SEHID M| 200,000& »5CH 1,000
* NEAME =&7Xbl 3,000,000 3,000




2N
X ZH -
L= B

el

HAW
MEHIISHad ¥ NAMES(BZES/HIIE)
hgaae & 2S(FLMESEIA)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Zels & RFUHAE =X
2, 7173 *2,095m 5,693
EJ(EHZY A )M S X
3,000,000 = 1CH 3,000
g§=J ABF WHbl 3,000,000& 3,000
22 ASIHE =4l
500,000& x10& 5,000
HEAE =8 X 2,000,000 =2CH 4,000
A &Y =% XYl 300,000& *3& 900
BHi&E & &L 2EFTE(SST - 2,
AETFAL) 300,000 »7H 2,100
SIL=EI 225 Wbl
500, 000& »3CH 1,500
TOIA ¥ WE =M 100,000& 1038 1,000
SS2HEE Il e el wH
1,200,000& *13] 1,200
QMY R 14,800
° R/OAIAE SXI&eldl 10,000,000 = 1CH 10,000
T=SEIZ 4| 300, 000& ~6CH 1,800
EZ% =& 1,500,000& »2CH 3,000
-SHHEE ANERXH(REZ, F& 4 Z)
1,000,000& »23] 2,000
-d&= MelAld |X2eltl 21,000
S 1HEH 4,000,000 4,000
S= 20HEHE 5,000,000 5,000
QMY S 4,000,000& 4,000
TEZMHEE 2,000,000& 2,000
sl F=y 6,000,000 6,000
-AExHelAE BX2S EAHESHA EEH
(582,28 2) 70,000& =400 m 28,000
-IHEE ¥ SEZFALE FH RALH(SFFH
2 2ldl) 147,092
ESDN 20,000,000& =2CH 40,000
Exawl 20,000,000 »3CH 60,000
220 20,000,000 = 1CH 20,000
doEy
[7,432,0002+(1, 1002 *400£ *12& )]+20H 17,992
XL R 9,100,000 = 1CH 9,100
-IHEE ¥ SEZFANE JBERAU(RFU
2 =2ldl) 77,907
NN,
(3,338,000 +(1, 1002 *150£ *12& )]+1CH 5,318
gesg
(3,338,000 +( 1,100 *2202 *12& )]+1CH 6,242




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
)

Cel: HEgdae ¥ 2 (EAASSEIA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
&+t
[5,318,000& +(1,100& *904 *12¢ ) |*1CH 6,506
cE3a=Re
[7,432,000& +(1, 1002 *4502 =128 )]+1CH 13,372
© otE )
[4,717,000&+(1, 1002 *300£ *12&)]+20H 12,637
" StDE(128)
[7,432,000&+(1,100& *2,0004 *12&)]*1 33,832
CH
202 Odl 3,240 3,240 0
12O 3,240 3,240 0
ONYH L= L A4 220y
60,0003 *3EH +32 +63] 3,240
206 M= Hl 992,566 971,578 20,988
BT 992,566 971,578 20,988
OSSHEYE ¥5+ 282 L HAZFY 7
2 (P.EZ) 39,725
-EE% X2 (P.ERSZ,1200mm)
480,000& *15m 7,200
-JtA ZF2(PER3H) 22,725
$1,000mm 280,000& *75m 21,000
¢ 150mm 23,000& *75m 1,725
-0l8 AdIA3 9,800
$1,200mm 350,000& 5% 1,750
$1,000mm 290,000 *25% 7,250
$ 150mm 32,0003 »25% 800
ogd s+ HMel 4S3tl(ss81-2, 78X,
Q) 743,681
=2 EHE 1,500& *500kg*365 273,750
—EHAtBHE 100,000& »1.5m 365 54,750
-zt SEH 5,000& *1.5kg*365 2,738
-Jtd A CH 220,000& +0.6m 365 48,180
-H A0 M E 18,000& 10 *250 45,000
-2 &304 = 12,0003 10 250 30,000
-0Ees 500 *500kg*365 91,250
-AEH 3,000 *x24 =365 2,190
—&H 4t 150,000 *1.0m 365 54,750
-2 HEH(R/0) 11,500 104 *365< 41,975
-2J12 H&EH (R/0) 11,500& 15 =365 62,963
= 3,000& %104 =365 10,950
- =X 23,0003 #34 =365¢ 25,185
O &E2E EXNMH(&s1-2,2F) 7 209,160




2N
D AMEHIIEME ¥ HEWEE(BIES/HIIS)
)

el

X ZH
S =

EEnt

hgaae & 2S(FLMESEIN

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-2 6t E 25,000& 500K x4 3| 5,000
2N S HIES 120,000& 20 2,400
=JIH €L 23 HlE KM 4,000,000& 4,000
-JbA 40,0002 x4l A~ 63| 960
-NAEHITIMAN 3IE 4,000,000& 4,000
-R/OZAE ARE RAU(&5=2,2HF) 183,400
w-Ey el 36,000& 2,500 90,000
el=-R, 36,000& *2, 5004 90,000
JGtERINTH 34,0002 *1007H 3,400
—RAWHE HO Yy
180, 000& *30H 5,400
-R/0AIE PHEIA 2¢ 800, 000& *5H 4,000
207 Ao Y| 6,250 6,250 0
03 AlE A 24| 6,250 6,250 0
Ox&EZA&aE8 =XI|F 50,000& x10= *23| 1,000
OFZEEALAE AN (L2LI0tE BAQ 4F)
100,000& *5= x5 3] 2,500
Ox&=HEZ J|AH,IIF 250,000& *5& 1,250
OF&Es+8E PHEEZ HOIH 7Y
15,000& * 1004 1,500
401 Al HI L 2T 316,800 669, 155 352,355
01 A& Hl 316,800 665,930 A 349,130
OEHMd Ux=H 7,500,000& =2CH 15,000
OHOI2C t==H 10,000,000 = 1CH 10,000
OEIZEZY UM 5,000, 000& =2CH 10,000
O=24D] U=eH 5,000,000& =3CH 15,000
OE XM Ot0l= Ect nHM=el
30,000,000& =1CH 30,000
OHg & HEME =& 2 HelH(&252)
200,000,000 1A 200,000
Oz AELA(2A) ZAAAE =
7,000, 000& *1JH A& 7,000
OLLAMNMEE HEY BEL L FIIEE ZA
20,000, 000& *1JH &~ 20,000
OssMAIIMMEE e &M
9,800, 000& *1JH A& 9,800
402 Q12+t X220l & 310,878 313,680 AN 2,802
01 2IZ2ZtXtE2e X 310,878 313,680 N 2,802
OLAZYHME S F=HXYE =0=2X HEAFE(
EAR ZEBO, 40| BY 2a2)
6,217,542 ,0002 x10/100%2/4 310,878
405 XHabF SHI 146,000 236,800 A 90,800
01 JMY = EF S HI 146,000 236,800 A 90,800




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O& Xt (1Ney 88, HHX)
80,000,000 = 1CH 80,000
Oa=xter da=2el HMAE (DY, 8E)
40,000,000 = 1CH 40,000
O=4D 288 M& 2 22,000,000 «1CH 22,000
Oss2Hgd H=24 REA dAEX 7L
4,000,000& = 1CH 4,000
HEHIIS NHEBE AL 766,404 461,514 304,890
201 Let24E] 49,534 46,034 3,500
01 At 22l 36,600 25,100 11,500
O1.4Bt=2H| 21,600
“HOIEME fIEX™eldl 450,000 <43 =128 21,600
O6. 21z 15,000
-YESEIAL HIY HHEL FH X
15,000, 000& 15,000
02 =24l 12,934 20,934 A 8,000
O3. Al ZHl s Xt 12,934
-A =K Al 5843 +1,599m’ 934
—MERHIIZ2 SSEEA = Xl 2 el
10,000, 000& 10,000
~MERIIE SEEZEAE HEALE 282X
=l 2,000,000 = 1CH 2,000
206 M= Hl 696,870 413,080 283,790
01 =8l 696,870 413,080 283,790
OMEHIIE EETANE 29 696,870
-EENM(AEEY) 1,540& »450kg x270L 187,110
SEENM(AEAdX 2
1003 *(120m* 1494 ) 270 482,760
MEESE BE = 7
6,000 =100 =12 7,200
—EEZIANE 22X A2F 7Y 11,600
2= ,000& x20H «53] x 122 3,600
COHEONAT HADATR 1S
200,000& x20H x23| 8,000
-JIos ¥ OdclA2 283 200,0003 *43 x45 3,200
—ASZEAAL JIHEE AZREOIHMAR 6
B) 5,000,000 5,000
401 Al HI K 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
Ot ut4f OI&S2HI0I0 WXl
20,000,000& =14 20,000
MEXASSHEHEES(EX) 1,004,410 5,041,066 A 4,036,656
= 651,000
< 200,000




SN BAD
FM: MEHIISMe £ NAMEBE(RZES/HIIE)
S BNV L SY(FAAMYSHEH) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
153,410
401 A& HIZ 201 8] 1,004,410 5,041,066 24,036,656
= 651,000
< 200,000
Al 153,410
01 A& HI 1,000,000 5,030,000 24,030,000
OZEMHEE JIEAIE AX ALY
1,000,000,000& 14 1,000,000
= 651,000
< 200,000
Al 149,000
03 A2 S THHI 4,410 11,066 A 6,656
OSSMHEE JIEtAIE ZXAE AIE 20U
1,000,000, 000& *0.63%*70%<Z 2> 4,410
MEHIISHASHEAASSHIIH) 8,879,202 9,213,067 A 333,865
= 5,600
< 55,000
Al 8,818,602
AHEMEE 24 8,336,697 8,821,422 N484,725
201 L2l 50,503 90,203 A 39,700
01 At 22l 18,180 53,090 A 34,910
O1.€8t+=&H| 11,950
-HeEss dseEs R 100& %30, 0000H 3,000
-HEES =32 0t 72 250& +15,00004 3,750
-He2%S fEHeltl 500,000& 4= 2,000
-SASXI 2elsH 3,200
EFIIE L =HYY ¢AUHE M
100& 20,0008 2,000
=HA2 £ LS o2 AEH WA
200& *6,0000H 1,200
O3.2d=¢ 2,030
M S8 S =3 U] ZAE 70,0003 *293] 2,030
O5.=2 &l 4,200
—SASMYD 2els=AHYgRFE 24
7,000 «5&H x10€ «12& 4,200
02 =24l 14,323 17,113 22,790
O1.2Z22SZHA 1,100
-SSASAAI =AEI MEIYE 2EEE
800,000 1CH 800
—SAZSMYI =HEI MEXSY SHEINLEL
23 150,000& » 1CH 23] 300
O4. Xt & o el 13,223
—SASMAYI =AHEI MAXE
13,223,000& *1CH 13,223
03 A2 S HI 18,000 20,000 A 2,000




2N
CAMEHIIEMNE ¥ HEWEE(BIES/HIIS)
t 3

el

X ZH
S =

=]

Enl;

MEHIIS XA (E

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFNEE LsEH A
10,000, 000& *23] *90%< & 2> 18,000
202 04 b 4,320 5,520 A 1,200
01 2LHOHI 4,320 5,520 A 1,200
OSA2 2 HEEE =2el4+) YLEX0Y
60,0003 *4H 3 x63] 4,320
206 M=l 29,900 29,900 0
01 &bl 29,900 29,900 0
OM (1 ) ¢ 5,500& 2,000 E 11,000
oga(1y ) 7« 3,000& *x2,500H 7,500
OPETH (300me) ¢ 320& *20, 0004 6,400
O3 (200¢ ) ¢ 500,000& 104 5,000
301 Bt A= 8,064 8,064 0
10 AR HI B2 A2 8,064 8,064 0
OF1NEE EFnedH ANASAMAL S4
7,000& x4H 12 «12& 4,032
OQ#MEEIH XN Z2ALX S4
7,000& x4 x 12 «12& 4,032
307 QI2t0| ™ 8,234,910 8,652,735 N417,825
05 A2t E 2 8,234,910 8,652,735 N417,825
OsAMEMY I =828 &£ Kbl 4,405,605
-2 H 93,539& *2,000E x12& 2,244,936
—HH=E e 163,687& *1, 100E 128 2,160,669
OZSFHMBHIIS +F2Y +42
2,970 x107, 444 T = 12& 3,829,305
401 Al HI L 2 0HHI 9,000 0 9,000
01 A& HI 9,000 0 9,000
OJIAHH HWEEsSE 2210 EX3A
9,000, 000& * 14 9,000
AN2=8 Sel=HE 25,000 57,000 A 32,000
201 Bt H | 25,000 57,000 A 32,000
01 At 22l Yl 25,000 57,000 A 32,000
O1.dbetx=2H| 25,000
-AN=s2elLHE 2 25,000
C HEZES 22 HE 50,000& *50JH 2,500
A2EHIIEHE =& 200,000& *40AM E 8,000
HAXX =& & 30,000& = 1504 4,500
SASMYI| SA+=HEII(1200 )
50, 000& *200 4 10,000
Hesg 2243128 (BX) 166,700 166,700 0
T 50,000
Al 116,700




A =
H: MEHIISHMe L NHEHEE(#IES/HIIS)
t 31

Ce MEHISNHIS(E AL SES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 166,700 166,700 0
< 50,000
Al 116,700
12 JEEd =3 166,700 166,700 0
ONgsEs =8243 20,0003 +8,335= 166,700
< 50,000
Al 116,700
sZE2icl & HUlgxZ8243 N (EX) 16,700 16,700 0
< 5,000
Al 11,700
301 et A=z 16,700 16,700 0
< 5,000
Al 11,700
12JIE243 16,700 16,700 0
OsE2 &= HHEEAS
100, 000& 167 & 16,700
< 5,000
Al 11,700
RFIDS A EM D] 2elAlAE 2= 134,705 106,845 27,860
201 YEt2 | 80,000 77,280 2,720
02 222 80,000 17,280 62,720
O3. A& EHl s Xt 80,000
-SASAI AEEHEH KA E =4
2,000,000 «400CH x10% 80,000
301 gt 4= 54,705 29,565 25,140
1224 = 54,705 29,565 25,140
ORFIDB S8 SASMY DI BEH i
= 30& x50kg*1,200CH *2.5/100*365 16,425
OSaASXdI SEM AEEH dIIes X
1,200& +1,20001 x12& 17,280
OUHHEAISE SASMY D SSH HEE
b & X8l X& 3,000,000 =7 CH 21,000
Ct=EFEZASMY I SEH =X 193,800 38,800 155,000
201 Let24d] 193,800 38,800 155,000
01 At 2teltl 193,800 38,800 155,000
O1.d8t=8Hl 193,800
—CHEE SASMYIISEH S22 AIH
5,000,000& 5,000
-CHEE SASMYIISEH AEAMER
= 188,800
54 403 *4,000,0000H 160,000
204 40& *540,0000H 21,600
604 403 50, 0000H 2,000
1204 40& *130,0000H 5,200

_13_




SA: A

Mz MEHIISXe ¥ NEHES(BALS/HIIZE)

ol MEBHIISURAS (HANYSLES H) (el @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SZEHHYESNBAZS(ERXR) 5,600 5,600 0

= 5,600
301 et A= 5,600 5,600 0
= 5,600
12 JIEtE &2 5,600 5,600 0
OsZHHEHEANZ 10,000& x560= 5,600
= 5,600
HESHAL (HAD)(IIEH/DIIE 17,341,261 16,649,474 691,787
OlESHH(HAN)(HAANSSLESH) 17,225,791 16,476,584 749,207
FAMeESHH| 17,225,791 16,476,584 749,207
101 21 21d| 17,225,791 16,476,584 749,207
03 2INHL=Z2XHE %= 17,225,791 16,476,584 749,207
O1.8Z0I3& 14,669,661
-Jl23 1,222,150& 310 x12& 4,546,398
| Zg 1,792, 150& *310H *200% 1,111,133
8324 1,792,150& *310H *180% 1,000,020
-H & cte | 1,792,150 *3109 *300% 1,666,700
-tE4 237,336
bl < Xt 40,0003 x310¥ x0.78x12& 116,064
JIEDLE 20,000& *310H +1.48+12& 110,112
SO (AT O 0] Ab)
50,000& *310¥ +0.06*12& 11,160
-ExgRag 90,000& *310H x12& 334,800
R PN R = 70,000& *310H x12& 260,400
~HHZAH| 160,000 x310H ~12& 595,200
-JIH 2 & H| 110,000 3109 »12& 409,200
-WEE XY 140,000& x310¥ ~12& 520,800
-HE S| 1,792,150 *3109 *150% 833,350
—2tAH| 5,000 *310H x22 128 409,200
-0t 2R = 59,930 30 52 x12& 107,874
-2 112,3753 *310Y¥ 20 696,725
AR asEIISY 119,860& x310% 20 743,132
e = 70,000& *310H x12& 260,400
-ANZ2A2 2L 22,4703 *310H *12A] 2+ 83,589
-AMEESE 2 XS 83,328
EYE=3-18m] 448, 000& *310H 0. 15%4 3] 83,328
—HAASE Y 200,000 x10H x12& 24,000
-g &2 3,900,000 x5H %20 *1.5 585,000
-0 A EE 43,300 310 »12& 161,076
O2.J|EIR2I|1 A2 2 X} 172,306
- AL 29,818




2N
X ZH -
L= B

el

ro gt o4
19 02 b~

i
A ZH(HA0)(I1EH/IIE
SYH(HEAD)(BLMSSEIA)

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
3 40,0003 x1H *313! 12,520
A= 12,520,000 x1H x1/12%x300% 3,130
HESOH|  12,520,000& 1 x1/12%120% 1,252
s242F22g 40,0003 x1H x150%* 14 840
A X4 40,000 1 %23 920
PNEER=1a = 448 0003 x 1 43| 1,792
HoHZ A 80,000& »1H x12& 960
s 4 1,560
* Uil L X 40,000& 1H x12& 480
= J|EHIHS 20,0003 x2H x12& 480
= SUTHOF O] & 50,000& x1H x12& 600
F=5g 40,0003 1«52 2,080
324y

12,520,000 1 %1/ 12x50%*23] 1,044
NG 100,000& x1H x12& 1,200
202 40,000 x1H *10L # 128 x50% 2,400
M= 60,000 «1H »23] 120
-xl 97,561
3 36,640 x4H «313L 45,874
R 11,469,000 *4H x1/12%300% 11,469
HAESOH] 11,469,000 x4 x1/12%120% 4,588
S242Rx 36,6403 x4 « 142 «150% 3,078
AXt== 36,6403 x4 x19 2,785
ANMESHEX4E 448 000 x4 H 43| 7,168
S oHFAH| 80,000& x4H x12& 3,840
CIIEsY 4,080
* bl 2 X 40,000 x4H 128 1,920
* J|EFIIE 20,0003 x4 x12& 960
* KU OF Ol & 50,0008 x224 * 122 1,200
=54y 36,6402 *4% *522 7,622
DHIIAZ 36,6407 %42 %42 % 12B *50% 3,518
d24
11,469,000 x4 x1/12%40%*2 3] 3,059
P = 60,0003 x4H »23] 480
-SSHEH 23,838
23 36,6403 x1¥ %313 11,469
A= 11,469,000 » 1% x1/12%300% 2,868
HESOIHl 11,469,000 x 12 x1/12%120% 1,147
A X 36,6403 x1H 18 660
ANEHSHEXSE 448 000 x1H 43| 1,792
g A 80,000& *1H x12& 960
s 1,200




SA: A
M HESHBHI(HAW)(IIEH/IIE
9 QIS (HAD) (BAASSESN) (el @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
* il 2 Xt 40,0003 18 +x12& 480
* J|EFIIS 20,0003 x3H x12& 720
FRag 36,6402 12 %522 1,906
Bosy
11,469,000 12 %1/ 12%x50%*23] 956
2EFIH4 2 36,6403 *1H x4 12 *50% 880
-SXg& 22 21,089
ez 36,6403 x1H *313Y 11,469
= 11,469,000 »1H x1/12%300% 2,868
HAESIHl 11,469,000 12 x1/12%120% 1,147
A X 36,6403 x1H x17L 623
g A 80,000& *1H +x12& 960
s 720
* il 2 Xt 40,0003 18 +x12& 480
* J|EFIIS 20,0003 x1H ~12& 240
FELY 36,640 18«52 1,906
dz24
11,469,000 12 x1/12%x50%*23] 956
2EFIHM 2 36,640 x1H 22 x 128 *50% 440
O4.82 0|13t 12| 115,326
-5l = 90,000& *310¥ 23| 55,800
-9 20,000& *310H 6,200
—OFA (OFZ) X)) 25,000& *310¥ *23| 15,500
-ghst A2t 20,000& *310H 6,200
& A DR 12,000& *310¥ 23| 7,440
-OrA 3 50,000& *310H 15,500
-OtMH E 40,000& *50H4 2,000
U FSE=N 10,000 x82H 820
-SHXOAI(SXR) 1,300 «94H x435] 12 5,866
O IR =2 ¢ 252 1,877,398
-=0932 L A=Y
14,661,757,000& *4 .50% 659,780
-HAdBE = 14,661,757,000& *2.82% 413,462
-Ng88gas 14,661,757,000& *1.30% 190,603
-MEEE 14,661,757,0002 x40/1,000 586,471
~LOEADIRABEE 413,462,000 *6.55% 27,082
O=tEITd =z 21X 391,100
e 1,100,000& *310H 341,000
-SEgAHLHN 300,000& x167H 50,100
|2ZH(FLD)(BAMLSEIH) 115,470 172,890 A57,420
SFANSGHI 41,730 56,910 A 15,180
201 Bt 41,730 56,910 A 15,180




M HA
M HHE2HAH(HAM)(IIEH/IIE)
¢ D2 (FA0) (BAMSSES ) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 38,850 54,030 A 15,180
FAN2Y LEt=EH] 5,650,000 5,650
Ogatl 33,200
-2 X 60,0003 12 x 1152 *20 & 13,800
_ax 19,400
g4 50,000% » 1 250 12,500
=g 60,0003 *1H 115 6,900
02 =224l 2,880 2,880 0
ORNM2Y 8323 480,000& 480
OFSES = 50,000 «40H x 128 2,400
A2 FA 68,640 110,880 A42,240
202 O4dl 68,640 110,880 A 42,240
01 = LH 4 Hi 68,640 110,880 AN42,240
OFQYRFAAHL 20,0003 26«11 *128 68,640
2R =&l 5,100 5,100 0
203 YR =&l 5,100 5,100 0
04 FN2ELRZ=TH| 5,100 5,100 0
ORNSLERFIHI(ZJ:45Y) 5,100
-Jl2 350,000 128 4,200
-z 5,000 =15 «12& 900
WREs(Hal)(BHES/HIIS) 3,157,836 1,139,580 2,018,256
HEHHXS(HAASELESA) 2,057,036 283,680 1,773,356
=d&s=s 310,877 283,680 27,197
702 JISEEZS 310,877 283,680 27,197
0MNII3HES 310,877 283,680 27,197
OHII=2 M2dAE FHIASANS FUXNFIIS 310,877
-SEHEHE(MEs . 23 2eal)
6,217,540,000& *2/4%10/100 310,877
A2 BH2L(MSALE) 68,986 0 68,986
9 MEZ 58,386 0 58,386
02 SAt- SHINEES 58,386 0 58,386
OAE el HSAEE YHES 58,386
-MYJIESEM AASE S0
58,386,000& 58,386
404 SIS MHENES 10,600 0 10,600
02 SAt-sH=dES 10,600 0 10,600
OAE e HSAHE AN=dEs 10,600
-MEYJISEM AASE SSUE
10,600, 000& 10,600




A A0

HFH: MREsS(HF2M)(SF2S/HIIE)
Gl WRHHXNS(ELAASSLE3H) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ANEH2BH2I(FIIEE) 1,677,173 0 1,677,173
09 MEZ 1,658,273 0 1,658,273
02 BA- SHILEEZ 1,658,273 0 1,658,273
OA£2tel3 2HIeE JHEES 1,658,273
-HEdgE 24 1,658,273,000& 1,658,273
404 SIOIGHE2HE= 18,900 0 18,900
02 BA-SHA=EEZ 18,900 0 18,900
OAN&£2el383d 2HIeE N=2dES 18,900
-HESHEed 29 18,900, 000& 18,900
BEXNE(HEAANLELIAH) 1,100,800 855,900 244,900
Xt 20| At aks 350,800 355,900 25,100
311 X+ S0l A4 & 350,800 355,900 25,100
04 SLEFRIL S0 AH4&HE 55,800 74,400 A 18,600
OSsXAJINNEE =8AY
1,500,000, 000& *3.72% 55,800
06 JIEHXH 301 A& & 295,000 281,500 13,500
OMEHIIE HEATHEE(HYE , 2E)ANE &1
2 A 5,000, 000,000& *5.9% 295,000
HL=ASLE 750,000 500,000 250,000
601 XL SJAS&& 750,000 500,000 250,000
04 SLFINLSAS4E 500,000 500,000 0
OSsMAJINNEE =4A
125,000,000& *43] 500,000
06 JIEI= XY S 3 &E 250,000 0 250,000
OMEHIIS NHIATHEE(HE 2dE)ANE &1
S A 250,000,000& *13] 250,000




